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QUESTION 1

How is the IBM Tivoli Storage Manager (TSM) V7.1 administrative client installed?
A. It is an option during the client installation.

B. It is an option during the server installation.

C. ltis installed by default with the TSM client.

D. Itis installed by default with the TSM server.

Correct Answer: D

QUESTION 2

A customer has configured node replication for the first time. To validate replication for a specific node, the administrator
needs to confirm which two configurations to ensure successful validation?

A. REPLNODE-=yes on the source server.

B. REPLICATION=yes on the source server.

C. REPLSTATE=enabled for node on the source server.
D. Set the target replication server from the target server.
E. Set the target replication server from the source server.

Correct Answer: CE

QUESTION 3

During a long period of time the backup data for a specific node is spread over many volumes. For a faster restore, how
can the data be consolidated if active and inactive versions are needed for the restore?

A. Create a new copy pool for this specific node and restore from the copy pool.
B. Create an active data pool and copy the active versions from the primary pool hierarchy.
C. Move the data for this node with move nodedata from all sequential storage pools to a random disk storage pool.

D. Move the data for this node with move nodedata from the last sequential storage pool to a new sequential storage
pool.

Correct Answer: C

QUESTION 4
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What is the function of reconciliation in IBM Tivoli Storage Manager (TSM)?
A. It removes obsolete data from the TSM database.

B. It logs orphan stubs and deletes obsolete copies of files.

C. It removes orphan stub files from the TSM server database.

D. It repopulates orphan stubs and deletes obsolete copies of the files.

Correct Answer: B

QUESTION 5

The Tivoli Storage Manager server and client are connected to a TCP/IP network. How can the connection to one of the
clients be tested?

A. PING

B. NET STAT
C. NSLOOKUP
D. IFCONFIG

Correct Answer: A
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